Practice
Year end Math Assessment Grade 6 QO / ép

NAME: _;44\73(4)533

FORM:

INSTRUCTIONS
> Read through the test CAREFULLY before starting to answer any of the questions.
You must hand in sections A and B before beginning section C!
Don’t waste time on a particular question, if you can’t do it, move on and attempt it later.
Work at a steady pace.

SHOW YOUR WORK - this will ensure partial marks for questions where answers are

incorrect.
Be sure that ALL work is NEATLY presented.
CHECK your calculations to avoid careless errors.
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The test will be completed over two days

Day 1 Knowledge Questions

SECTION A Short answer fill in the blanks. Each question is worth one mark. You do
not have to show work.
NO CALCULATOR ALLOWED!

SECTIONB Short answer computation questions. See each question for marking

scheme, Show your work! NO CAL.CULATOR ALLOWED!

SECTIONC Short answer computation questions. See each question for marking
scheme. Show your work! CALCULATOR IS ALLOWED! You must
hand in sections A and B before beginning section C!

Day 2 Application, Communication and
Thinking
See each question for marking scheme. Show your work!
CALCULATOR IS ALLOWED!
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Part A NO CALCULATORIl
For the following questions, write your answer in the blank spaces.
You do not have to show your work. (Each question is worth one mark.)

43 is a composite number. True or False, 77 &oé.u.

A L
Write the fraction 26/4 as a mixed number in simplest terms: Z

Angle RST and angle WXY are supplementary. Tf angle RST = 65 what size is angle
o
wxy»> __//9

Which sign: <, > or = makes this statement true: 0.850 0.085 2

Choose the correct answer: 5° = 10, 25, 15, 125 /25

A triangle which has all three sides with the same length is called EOUIL 4TERAL

5
Write in exponential form: 6 x6x6 x6 x 6 lo

Which one of these numbers has both 8 and 6 as factors?

42 16 24 18 32 24

Is this statement true or false? 4539.4 = 4+ 3000 +0.04 + 60 FALSE

How many vertices are there on a rectanglular prism? 8

If one period represents 1/3 of a hackey game. How many hockey games have you
Y.
played if you play 11 periods of hockey? 273

Round 36.257 to the nearest tenth 20 . 3

True or False: 4 is a multiple of 527, _ LAHLSE

If you divide the circumference of a circle by its diameter, what result do you get?

n

What name is given to an angle that is greater than 180° and less than 360>

REFLEX .
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Part B

NO CALCULATOR ALLOWEDI!!

For the following questions show all your work in the space provided.

1. Write in columns below and add or subtract. (2 marks each)

(a) 23.116 + 54 + 14.23

23.
54,000

/4,230
Gl.34%6

2, Multiply or Divide,

(b) 3 563.1- 484.8

2563, |
~ 4848

- 2078.3 B

(2 marks each)

(a) 475.22 (b)4.1)68.32
x__ﬁ lb. 663
42566 4\ | 683.200
2951322 wt )
4yisize o =53
2749608 b LR
24l
7c0 |
Ao
14 O
|23
3. Complete the following chart: (3 mark each) 77
NUMBER X 10 +0.01 X0.1 +100
432.8 4328 1 432%0 #3.28 4,328
9 70 900 0.9 0,09




4, Solve: (3 marks)
43/5-1/2+3/10

L .5 .3
=T "o
T -1
- L"/o Flo
4
2 Y
K
-4 5
5. Arrange from least to greatest. Final answer must be original in form (3 marks)
1/3 2/5 7/15 3/10
1o iz AE . §
30 30 20 20
® 6 ® o

6. Arrange from least to greatest. (3 marks)

2 Y4 { 1
0.53 1.035 .053 0.503

0053 ©.S03, 0.53 1.03S



@ Part C CALCULATOR ALLOWEDI
71

For the following questions show all your work and formulas in the space provided.

1. Calculate (i} the perimeter and (ii) the area of the following shape. Write your

final answers in the box.

(2 marks each)
9m 3m F: dum oF Sibes
am g, S g7+ 5+2+ 3
45m \ -
W5 A\ ! 227m
7m_ ] Pror ps 2biak
- (ax+3) (219)
p= A71m o= C\ A ‘8
AZ295m?| A: fAe-A T FTT
A:G\-.‘S xc\\— (;’*"5)
s 40.5 -3
=375 me
2. Calculate the area of the circle: (3 marks)
A= Hxr®
radius = 6 m = Wx bl
' = //3.077

A =u3.10 m*

3. Calculate the volume of the cylinder. Write your final answer in the box.

h=7c

x
e

C
N U
[

2
n
3

d=bcm

(3 marks)

\/=mao{/{m:f§\



4. Without measuring, calculate the size of the missing angles. (1 mark each)

n
N
<

5]

(“'_\_ () ’_‘[‘/ (b) b (c) ) o
x/ 72° < >
— > q 54° a /c
x=__/8 "o 2
p= /2b a= SY
g= S4° b= GIL,L"
r= /2@" c= 121°

5. Express the following number as a "product of prime factors”. (2 marks)

162

/' \
(> s
/\
4 9
\ /
& oy
2% 2¢3x3x2 = /b1 OR ax3 el

6. Evaluate the following using order of operations (BEDMAS). Show each step in
your solution: (2 marks each)

@14+12+2 (6)10 x (2+3)*+ 5 (©7+%+2x15
> IL++'L9 - /OK_':}_Z": 5 :7)‘% le\.'S
"2\,0 .:-/OXQ-STS -'-l"i"‘"-s

= /0 Xs - \~'



7. Place brackets in the following statement to make it true,

9xé—2x3)=18

ay (B-¢) = 18
qy 2 =18
g = I8

8. Solve the following operations with fractions. (1 mark each)

(1 mark)

3 5 1 1 3
@367 S
=18 1w .2 = 2
2 Tz T S
: 45
|
1 5 2 2
A3 5 -yl 8 = < )=
+hef 403 ceR2d 4R2n
\ 8 8
22 R-ql, s 3R -27 OR =3t 32
21 2\ | " _:—:: VL (v
_S-i-‘ = IO(D = T'l - 22
: | . IS/G |
() £ + 3=
5 4 —
b
-;__‘_xt‘r_
53
A
1S



Day 2

Application,
Communication and

Thinking



Application, Communication and Thinking (Calculator Allowed)

O 1. On average Martin drives 80 km / hour. How many km does Martin drive in one
week if he drives for 12 hours per day? (3 marks)
. \
e wenda f/(/\w\w-a = \Lx7 \ 70(,,\,?4,( 12 L\,«s/p(ay x@dém/ﬁa
- Bithes
| = 67 ZO KMS .
BO x S4 \
2 6720 KmS '

|
2. Olivia and Kate are each 156 cm tall, Andrew is 161 cm tall, David is 163 cm tall,
and Jessica is 158 cm tall. How many girls' heights did you measure? (2 marks)

GrrLs Rov &
O(AMO— M Vo 5 SW A"}?z:: L
ot Dot rtvtiadl
JWG;\-
(:J 3. Tdentify the following solid shape and calculate the surface area of the shape.

Write your final answer in the box.

Name of the solid shape: WW (1 mark)

SA= Ll"L{m7‘(3 marks)

ToP tRoTTOM lzx7.5x L = 180
6m SWES 2x bx 7 W4
12 .
" e =rob S 28xbx 2 A0
HH m™
Pr x depth + Ar x 2
f - 3244 Q0

o/

Ty o m®



4. Jennifer's mother made a deal with her about cleaning her room. She said she
would give Jennifer $1.00 for every day she cleaned her room, but Jennifer

O would have to pay her $.50 for every day she did not clean her room. At the end
of 25 days, Jennifer's has a total of $19.00. How many days did Jennifer clean
her room?

! 2 3 “ 5 G 1 B A Lo tl
v r o Y Y ¥ Y Yy Yy v Y
1= 2 e S Vo oo 11 1% 19 20 2

1
Voo y ¥ y Y Y Yooy
22 23 24 S o o,
NN N 4 s
/w\ Ao~ %ﬂ =l 0&7
@ oyl Otwya cAgpred &
5. Daniel rides his bike for 1% hours each day on the weekend (Saturday and

0 Sunday) How many hours will he ride over the course of 5 weekends? How many km

will he ride over the course of these 5 weekends if he rides at a speed of 15 km /
hour? (2 marks)

6 1% bt fday Ste Son, S wuheds /5 kofhr
E o hewo e & OleTomes

FOX

O Ex2xS 2 /2T b

!
/5% 125 = /877 KmS.

Dol sl s B3 howa ol lrel

/8T F EMS e bha S wakindls



6. (a) The track coach would like to paint the surface of this track purple (for
HSC). To figure out how much paint he will need, calculate the area of the running
surface (only) of this track. (3 marks)

140 m

F 3

A 4

100 m

Iy
y

\

[N SO

120 m

/—,l: Umnnred + ':\:LW
O
1(1‘?—‘:—: ‘ﬁ-i)xz %—];Dxl\x 2.

A ~

T

- LAY W2 2 10ox /0 x2

- (423,3\33 - m.onc@ X2 + 2000

= Qg 4B +2e00

. 2y, 4728

S e e will

® oapueat ool b pund 294248 u*
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7. Charlie says that you can use two methods when finding the surface area of
prisms and pyramids. Sam says that you can use two methods for finding the

surface area of prisms but only use one method when finding the surface area of
pyramids. Who is correct and why?
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